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#include <iostream>
#include <algorithm>
using namespace std;
[/ EXREGFIEF e ERE =R %77
struct node {

int h; // EREZE

int 1i; // #HEREZERFELN TR
};
[/ FEFEHEBE: 5% TTHADELHEF
bool cmp(node a,node b) {

return a.li < b.1li;
}
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int main() {

int n, s; // n: BEREEE: s: BEFLRITR
int a, b; /] a: BFEE; b: FHEELKE TREE =a+ b

cin > n >> s;

cin > a > b3

node apple[5005]; // #08 FEMIAIE(EF, BEF1ES000 1 ER
int count = 0; // IEREFERFERIITE (EXTFEEEl~count)
// T REIFERE, FEZEHEF~count (T &

for (int 1 =0; 1 < n; 1++) {

int h, w; /! SErERHEEMETR

cin >> h >> w;

// FHrEREZTR (FEF <= TJRLEFZE)

if (h<=a +b) {

count++; // SEEITFE, (FTFEMIFLE
apple[count].h = h; // FiEF/ EcountMIE

apple[count].li = w3



D MERERF FEhnfe

// Afl~count B E A BT EREZE T M EIAHEF
// sort BERHIE NS ELZFITEL T —1, FrLliLapple + count + 1
sort(apple + 1, apple + count + 1, cmp);
int remaining = s; // F&£ 7
int ans = 0; /! TEHIFER S
/7 Aﬁﬁ%ﬁ’“ﬁﬂﬁﬁkount”“4zégﬁ*puz:ﬁfﬁﬁ@?
for (int 1 = 1; 1 <= count; i++) {
// ;’?ﬁ,ﬁ‘c’ﬁﬁfﬁﬁ SEBEBSFER
if (remaining >= apple[i].li) {
| ans++;
5 remaining -= apple[i].1li;
} else {
S TIRTE, EEFERITELA, EEEH
; break;
}
}
cout << ans << endl;
return 0;



